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General Instructions :
1.  All questions are compulsory.
2. The question paper consists of 34 questions divided into four sections A, B, C and D.

Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

3. Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

4.  There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

5. Use of calculator is not permitted.
6.  An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each. Questions 1 to 10 are provided with 4
alternatives out of which only one is correct. Select the correct answer :

1. Ifr=3is a root of quadratic equation kr2—kr—3=0 value of k is :
1 1
(A) 5 B) 2 © -2 D) —5
2. The sum of all natural numbers from 1 to 100 is :
(A) 4050 (B) 5050 (©) 6050 (D) 7050
3.  The length of tangent drawn from a point 8 cm away from centre of circle of radius
6 cmis:
(A) V5em (B) 2V5cm (€) Sem (D) 247 em
4.  If radii of two concentric circles are 6 cm and 10 cm, then length of chord of the larger
circle which is tangent to other is :
(A) 8cm (B) 10 cm (C©) 12 cm (D) 16 cm

5. In Fig. 1, CP, CQ are tangents to a circle with centre O. ARB is another tangent to
touching the circle at R. If CP=11 cm, BC=7 cm. Length of BR is :

(A) 1cm (B) 2cm (C) 3cm (D) 4cm

6. In Fig. 2, if tangents PA and PB from a point P to circle with centre O are inclined to each
other at angle of 72° then measure of JPOA is :

A
O P
B
(A) 36° (B) 90° (C) 54° (D) 72°
7.  The radii of bases of cylinder and a cone are in the ratio 3 : 4 and their heights are in the ratio
2 : 3 then ratio between the volume of cylinder to that of cone is :
(A) 8:9 (B) 9:8 (G 5:7 (D) 7:5
041/X/SA2/27/A1 2

Pl ease Visit ww. ncerhel p.com For Al Videos Lectures of all Subjects 6 to 12



Visit www. ncerthel p.com For Al NCERT Sol utions,
CSBE Sanpl e papers, Question, papers, Notes For Class 6 to 12

3.  1he aiameter of circle whose area is equal to sum of area of two circles of diameter
16 cm and 12 cm is :
(A) 56 cm (B) 42 cm (C) 28 cm (D) 20 cm

9.  The measure of angle of elevation of top of tower 75,/3 m high from a point at a

distance of 75 m from foot of tower in a horizontal plane is :
(A) 30° (B) 60° (©) 90° (D) 45°

10. The probability of guessing the correct answer to certain question is % . If the probability

of not guessing the correct answer to same question is %, the value of pis :
(A) 3 (B) 4 © 2 (D) 1
SECTION - B

Question numbers 11 to 18 carry 2 marks each.

11. Find the nature of roots of the quadratic equation 2 x> — 0.

ix+i=
272

12. Find the value of p, if the numbers x, 2x + p, 3x + 6 are three consecutive terms of an
A.P.

13. If all sides of parallelogram touch a circle, then prove that it is rhombus.

14. In fig. 3, if PQ=24 cm, PR=7 cm and O is centre of circle. Find the area of shaded
region. (w=23.14)

15. Find the number of spherical bullets of radii is 1 mm each that can be made out of a
cylindrical solid of radius 4 cm and height 6 cm.

16. The line segment joining the points (3, 3) and Q(6, — 6) is trisected at the points A and
B such that A is nearer to P. If A also lies on the line given by 2x+y+k=0, find the
value of k.

17. Find the type of triangle formed by points A(—5, 6), B(—4, —2), C(7, 5).
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153. vvhat 1s tne probability that a non-leap year selected randomly will have 53 Sundays.
OR

A card is drawn at random from a well shuffled pack of 52 playing cards. Find the
probability that card drawn is :

(a) spade or an ace
(b) neither king nor queen

SECTION - C
Question numbers 19 to 28 carry 3 marks each.
19. Solve the equation for x :

x+3_1—x 17

x —2 X X

20. The sum of the first n terms of an A.P. is 5n2—3n. Find the A.P. and hence find its 12th
term.

OR

The angles of a triangle are in A.P. The greatest angle is twice the least. Find all angles
of the triangle.

21. Infig. 4, PQis a chord of length 8 cm of a circle of radius 5 cm. The tangents at point
P&Q intersect at point T. Find the length of tangent TP.

\V/

T

22. Draw AABC with BC=6 cm, B =60° and OC =45°. Construct another triangle

2
whose sides are 3 of corresponding sides of AABC.

23. PORS is a rectangle in which length is two times the breadth and L is mid point of PQ.
With P and Q as centres, draw two quadrants as shown in fig. 5. Find the ratio of the
area of rectangle PQRS to the area of shaded portion.

S R
P 3 Q
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z4. A'rarmer connects a pipe of internal diameter 20 cm from a canal into a cylindrical
tank in his field which is 10 m in diameter and 2 m deep. If water flows through the
pipe at the rate of 3 km/hr, in how much time will the tank be filled ?

OR

A well of diameter 7 m is dug 22.5 m deep. The earth taken out of it is spread evenly all
around it to width of 10.5 m to form an embankment. Find the height of embankment.

25. The upper part of tree is broken over by the wind makes an angle of 30° with the
ground and the horizontal distance from the root of tree to the point where the top of
tree meets the ground is 25 m. Find the height of tree before it was broken.

26. If vertices of triangle are (2, 4) (5, k) (3, 10) and its area is 15 square units, find value of
k.

27. Find the coordinates of centre of circle passing through the point (0, 0) (—2, 1) and
(=3, 2). Also find its radius.

OR

If mid points of sides of APQR are (1, 2) (0, 1) (1, 0), then find the coordinates of the
three vertices of triangle POR.

28. A bag contains 18 balls out of which x balls are red.
(i)  If one ball is drawn at random from the bag, what is probability that it is red ball.
(ii) If 2 more red balls are put in the bag, the probability of drawing a red ball will be

9
3 times that of probability of red ball coming in part (i). Find x.

SECTION - D
Question numbers 29 to 34 carry 4 marks each.

29. The numerator of fraction is 3 less than its denominator. If 2 is added to both numerator

as well as denominator, the sum of new and original fraction is 29 , find the Fraction.

OR

The hypotenuse of right angled triangle is 6 cm more than twice its shortest side. If
third side is 2 cm less than hypotenuse, find the sides of this triangle.

30. Jaipal Singh repays the total loan of Rs. 118000 by paying every month starting with
the first instalment of Rs. 1000. If he increases the instalment by Rs. 100 every month.
What amount will be paid by him in the 30th instalment. What amount of loan does he
still have to pay after 30th instalment.

31. Prove that length of tangents drawn from an external point to a circle are equal.
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3Z. A'miuk container is made of metal sheet in the shape of frustum of cone whose volume

3
is 1045970’1’13. The radii of its lower and upper circular ends are 8 cm and 20 cm.

Find the cost of metal sheet used in making the container at the rate of Rs. 1.40 per
square cm.

33. A solid wooden toy is in the form of cone mounted on a hemisphere. If the radii of
hemisphere and base of cone are 4.2 cm each and the total height of toy is 10.2 cm, find
the volume of wood used in the toy. Also find the total surface area of toy.

OR

A circus tent is in the form of right circular cylinder and right circular cone above it.
The diameter and height of cylindrical part of tent at 126 m and 5 m respectively. The
total height of tent is 21 m. Find the total cost of tent if the canvas used costs
Rs. 12 per m2.

34. A straight highways leads to the foot of tower. A man standing at the top of tower
observes a car at an angle of depression 30° which is approaching the foot of the tower
with a uniform speed. Six seconds later, the angle of depression of car is found to be
60°. Find the time taken by the car to reach the foot of the tower from this point.

-00o0-
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9 HEAT 1 9 10 ek Uedieh U9 1 37k T &1 W9 G&AT 1 9 10 & T wdier w9 & foru

TR Jehfeueh ITY QU T & R0 ¥ hael Ueh U@l Tl MUl & 3T A |
1. Afgr=3, fgumdt FieRor ke2—kr+3=0 1 o € O k I AF ¥ :

1 1
A 35 (B) 2 < -2 O —5

2. 19100 T T Wk Gt &1 A T
(A) 4050 (B) 5050 (C) 6050 (D) 7050

3. THIAF H% Y 8UN R UF fag ¥ 6 Tt 5520 o1t 990 W It T TRt @ # T ¥

(A) 5 @ (B) 245 & (C) 5% (D) 27
4. e < wH=E gal w AT 6 T qen 10 I |, 1 9IS 99 Ht S Kl A ST gE I Bl

Wﬁaﬂ?ﬁ%,%:

(A) 89t (B) 10 &l (C) 12 & (D) 16 G

5. 2Tfa 1, CP AUl CQ, O s del I i TI%1 W@ &1 ARB I o1 Ueh o7 T09 1l & S
A I R R 9 &t g1 afg CP=11 ¥, BC="7 ¥, G BR &l TG ©

(A) 19wt (B) 2 &t (C) 39t (D) 4 &t
6. ;@ﬁrzﬁ,aﬁ:oéﬁmﬁr%ﬁﬁmﬁ%@ﬁmamm%aﬁ72°EMW%\,?ﬁ OPOA
A
o P
B
(A) 36° (B) 90 (C) 54 (D) 72

7. U oo q91 Vi o YR i A 3 : 4 3 3T | & 9 SRl Samsai 2: 3 % 3TUd | €,
A S % I T VP o A 9 3T ©
(A) 8:9 (B) 9:8 (C) 5:7 (D) 7:5
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8. U I 1 AW TS &ohdt, <1 I, TSIk = 16 WHY 9 12 9t ¥, o &bl & AN &
TR T

(A) 56 G (B) 42 &l (C) 28 G (D) 20 |+t

9. 753 W S TH HAR F R 1, HER F U ¥ 75 W gt R ferd w fag 9 sem
HE
(A) 30° (B) 60° (C) 90° (D) 45°

10. et U9 % W& W I STTHH T Ht Fifrehan % B e T y¥ & & IW H AR

T T 9 Y Wifaehar % LA pHRAAT:

(A) 3 (B) 4 © 2 (D) 1
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2_ 3 b '
11. fgomdt TRt 2 x \/Ex+\/§ 0 ol sl Yhfd 1A ST
12. af€ @& x, 2x+p T 3x +6 Tk FHIR JUit & o4 hiHH 98 € A p HT AE G HHT |

13. e Tk AR T4 1 At YSITE T I 1 W9 B, 1 fog FIfe % 7t aueges 2

14. 3TH{d 3 H, Afc PQ =24 i, PR =7 TH T T O I H1 5 &, I {Gichd HT Tl &R F1d
HIT | (7=3.14)

15. 39 TR e, 594 3 9 i 5o 1 fat 8, <61 S 39 ifSe S e SoH R 39,
forent oo 4 Tft qen oS 6 Tt §, W 9 SE T Fehell B 1

16. P(3,3) A Q(6, — 6) I THAM ATt TERGES I A T B R FHAMIN H ¢, So(h A, P &
T T AfE AXE 2x+y+ k=0 W +ff feord ¥ k 1 AE F@ Hiw |

17. T937 A(=5, 6), B(—4, —2) T C(7, 5) = THa™ aTeit Y 1 YR Fd HifaT |
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S R
P 3 Q
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Th §Y I oA, S UG 1 AIGE 1 oA §, P & f290h & THR H § e e
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